Q=B L*(1+0,3"B/L)*N*Cy*ic + (1+1,5*B/L)*Np*rp*g*Dpmin*ip + (1-0,25*B/L)*Ng*rg*g*B*is]

T/m®= ?

rpt= 1,80 18,00 kN/m
rgf= 1,80 T/m’= 100 kN/m’
c= 13,00 kPa= 1300 kN/m’
fi= 29,00 °=
N.= 3497,75 kN
= 0,00 kN
M= 0,00 kNm
er= (MA+T.*hg)/N, he=
eL= 0,00 m Dmin-
ptyta fundamentowa o $rednicy D=
wymiary zredykowanej ptyty zastepczej
B=L=0,885*D;
B= 7,70 m
L= 7,70 m
Np=e"® * tg(p/4+®/2)
Np= 11,981
Nc=(Np-1)*ctgd
Nc= 22,416
Ng=0,75*(Np-1)*tg®d
Ng= 4,035
tgs= T/N,= 0,000
tgd= 0,490
tgd /tgd= 0,000
z
nomogramu:
ip= 1,00
ic= 1,00
ig= 1,00
Qme= 54095,10 kN
Nr=m*Qg
N.= 3497,75 kN < 0,81"Que=
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g=0,9 rp= 16,20 KN/m
9=0,9 rg= 16,20 kN/m’
g=0,9 c= 11,70 kN/m?
g=o’9 fU= 26,10 o
STAROSTWO |
t:.:l.' )] -9/
1,20 m
0,40 m
8,70 m
warunek
43817,03 kN  spetniony
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